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" Mathematics h
Practice Set A

Paper 1 (Non-Calculator)
Foundation Tier

Time: 1 hour 30 minutes |

Total Marks

You must have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser.

Instructions

* Use black ink or ball-point pen.

* Fill in the boxes at the top of this page with your name,

centre number and candidate number. ‘

« Answer all questions.

« Answer the questions in the spaces provided

— there may be more space than you need.

« Calculators may not be used.

« Diagrams are NOT accurately drawn, unless otherwise indicated.
* You must show all your working out.

Information

» The total mark for this paper is 80
« The marks for each question are shown in brackets
- use this as a guide as to how much time to spend on each question.

Advice

* Read each question carefully before you start to answer it.
« Keep an eye on the time.

* Try to answer every question.

* Check your answers if you have time at the end.
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Write 564 to the nearest hundred.

NeYe,

(Total for Question 1 is 1 mark)

Here are 4 number cards.

3|8

4

1

(a) Write down the largest three digit number that can be made using these number cards.

g3

(b) Arrange the cards to give the smallest possible answer to the sum. (1)

[ |4

OR I &8 + 34

3

g

(1)

(Total for Quéstion 2 is 2 marks)

Write 0.7 as a fraction.

-

e
(Total for Question 3 is 1 mark)

Write % as a fraction in its simplest form.

Q’g - /L{’ = /2:—-
—_ —_— ,
42 2 3

(Total for Question 4 is 1 mark)
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(a) Simplify 4 x 5y

20y
(1)
(b) Simplify 6a—2a+ 3a
o + 3o
7 o
)

(Total for Question 5 is 2 marks)

Write down a multiple of 7 that is between 40 and 50

hr e g

42

(Total for Question 6 is 1 mark)

An ordinary fair dice is thrown once.

(a) On the probability scale mark with a cross (X) the probability that the dice lands on a number less
than 7.

——X
1

o]
Y

(1
(b) Write down the probability that the dice lands on 2.
L
)
M

(Total for Question 7 is 2 marks)




8 There are 30 pens in a box.
11 of the pens are black. lL+ 6 =17
6 of the pens are green.
The rest of the pens are red. Ro~17 = |
—_—
One of the pens is chosen at random.
Find the probability that the pen is red.
13
30
(Total for Question 8 is 2 marks)
9 It costs £0.80 to buy 5 bananas.
Work out how much it would cost to buy 9 bananas.
0. 80 o
= o.i6 I€>-|o P er bonmn o
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—== lygp e tlyg e
I 4 4 (Total for Question 9 is 2 marks)

10 (a) On the diagram below, draw a diameter of the circle.

(b) On the diagram below, draw a sector of the circle.
Shade the sector.

(Total for Question 10 is 2 marks)
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11 Write down all the factors of 18
/ /¥
9
3 6
/,/ 2/ 3’/ é/ q a/nd / 3
(Total for Question 11 is 2 marks)
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(a) Write down the coordinates of point 4. _ (.. 3 _______ - Z)
(1
(b) On the grid mark with a cross (X) the point (-2, 3).
Label this point B.
(1
(c) On the grid, draw the line with equation x=35 . (1)
(Total for Question 12 is 3 marks)
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13 Here is a bar chart showing the number of miles Paula and Rose ran from Monday to Friday in a week.

(9]

Number
of Miles

Key:

Paula

Rose

Monday | Tuesday |Wednesday| Thursday |

Rose runs further than Paula on Monday

(a) How much further? |
7 -3
.......... Affvw les
| (1)
Rose ran 7 miles on Thursday
(b) Use this information to complete the bar chart. (D

Rose is not going to run on Saturday.

(¢) How many miles would Paula have to run on Saturday so that the number of miles she runs from
Monday and Saturday is the same as the number of miles Rose runs from Monday to Saturday.

Rose TH+4—+7+7+8 = 838 amiles
it —~+ 14 + §
2 5+ 8 = 373
Pooula 3+6 e +S 4 = 2@ mniley o// ................
<7 £ /Y o (2)

(Total for Question 13 is 4 marks)
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14 2 calculators cost £12.54 x| 5
3 pens cost £1.77 X 10

Jude wants to buy 30 calculators and 30 pens.
He only has £200

Does Jude have enough money to buy 30 calculators and 30 pens?
You must show how you get your answer.

‘. i ;

S rl. 77 xtlo = i'/7b'7'c>
X Y

—7*7’—7—-___.‘

& 2 7 ©
2 5 4.0 /| ¢ & . /o
—— T
;% 3 | © + 17 . 70

| 2 0 5 g0
718810
Fzos5 so

No 230 calcudotors + 20 pers Contd More fen E200
(Total for Question 14 is 4 marks)

15 Write the following numbers in order of size.
Start with the smallest number.

o012.5 o 5 3
gm 62% 3 0.61 0.7 3

A =12 .57
g

5 y
= 62.5 S 0.672
- 0.6, 0.6/,062 0625 0 7

(T(,)tal for Question 15 is 2 marks)

16 In a bag there are blue sweets, red sweets and green sweets.
The ratio of blue sweets to red sweets to green sweets is 6:4:3

B R G [ 3 eAR- T
What fraction of the sweets are red?

Lf

(Total for Question 16 is 2 marks)
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17  Work out 182% of 160.

| & ©
g O
4 &
+ 3.2
29 .2

(Total for Question 17 is 2 marks)
18  g=2p+5r |
2(4) +5(-3)
T ¥ — 75
-/

«~9
f}

p=4
r=-3

Work out the value of g.

(i

-7

(Total for Question 18 is 2 marks)

19 A piece of string is 210 cm long.

John cuts three 30 cm lengths off the string.
He then cuts the rest into as many 35 cm lengths as possible.

Work out how many 35 cm lengths of string John cuts.

3x 30 = 90

A

2o 12 Ocn ekt
— 90
1 2.0 35+35 =70
ot 55 <165 (3 lengns)
354 ¢ :‘1/ %0 (Mor( Man 120) 3 ................

(Total for Question 19 is 3 marks)
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20 (a) Expand 3a(a-7)

(b) Solve 5(b+2)=30
5b + 10 = S50
5h = 20

b= ¢

2
3a - 2/a
)
b= s
4 @)

(Total for Question 20 is 4 marks)

21 & {even numbers between 1 and 31}

A = 263 L 18, 26, )
B= %M%: }{,,24,}0'}

~ (a) Complete the Venn diagram to represent this information.

é/_ /2. 20 22

A number is chosen at random from the universal set, Z

(b) What is the probability that the number is in the set AUB ?

)
1
/5

(Total for Question 21 is 4 marks)
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22 Alfie, Bertie and Charlie share £115
The amount Alfie and Bertie get is in the ratio 7:5 00 2 . )
The amount Bertie and Charlie get is in the ratio 3:2 : - 23
heii 5.
How much does Alfie get?
. B:( |16 <46 = 2.5
7.5 32
¥ X 5 xS .
5003 < 21 x2.5
2//§ /1§ (0 Q'KZ,:—L(;Z_
/’)’ P C 2[ X Og [
2715 10 Y46PaRTs 552.5’6
I
(Total for Question 22 is 3 marks)
7 .2
23 Work out — + =
(a) Work ou g5 3

Give your answer as a mixed number in its simplest form.

7 5 35
S X — - T = 3
3 2 A 2 //é—

3.2 (2)
(b) Work out 1Z X3
7 z _ !l _ 7
— ,X /:’ he —_— = —
L,L 5 20 | o

7

/O

2)
(Total for Question 23 is 4 marks)
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24 A circle has a radius of 32 mm.
(a) Work out an estimate for the area of the circle.

7 (32)

3(30)
2 (q00) = 2700

l

(b) Is your answer to part (a) an underestimate or an overestimate?
Give a reason for your answer.

...............................................................................................................................................................

el e

(1)
(Total for Question 24 is 4 marks)

25 Lottie buys a pack of 30 cans of lemonade.
She pays £10.50 for the cans.

Lottie sells 22 of the cans for 50p each.
She sells the remaining cans for 20p each.

Work out Lottie’s percentage profit.

/2 .60 — {f0.50

7 Peolt = X 100
' /] o. 506 ‘
< 270 o0
/o-50
= 2,[;._(_)—:“_‘7:_2_2:»30 2.0 %
/0’5" 2/ .............................................. 0

(Total for Question 25 is 4 marks)
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26 The diagram shows a triangular prism.

Find the total surface area of the triangular prism.

-~ { : T

Front 3_‘(4)(2) = bepy 3em

B ok = bem

4 cm
o . ) T
Be tbom Wx il = Lp“fcm 5 &
4 Y
. - 1
Sioke 3x ) = 33 cm 3 3
\ A
’ SIOL»Q Sx i = 5§CM + 6
2
.............. (4Y.Cm.......
(Total for Question 26 is 4 marks)
27 Dani leaves her house at 08 00.

She drives 32 miles to work. . A stan e
She drives at an average speed of 40 miles per hour. S f’ cedd = -
At what time does Dani arrive at work? &€

.. 0(/_;* {;"am [ 3
Erme = | ‘

spee oA
= 32 T - o
4 o Zo s 60
O 45

(Total for Question 27 is 3 marks

-




28

The diagram shows a cone with radius 3 cm and perpendicular height of 8 cm

9cm

«—side

On the centimetre grid below, draw the plan and the side elevation of the cone.

/ / 1\
/ N
\
\
\\ \\
.l | \

(Total for Question 28 is 3 marks)




4 )

29  On the grid, draw the graph of x + y =4  for x values from -1 to 5

(Total for Question 29 is 3 marks) -
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(a) Write down as a column vector

Y
-3

(a+b

(ii) 2a—b

()

(b) From the point P, draw the vector ¢

()= ()

e
-—

) (7))
() -(f)

.............................

Ko

)

(Total for Question 30 is 4 marks)
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